

Title	KdV polynomials and Λ -operator
Author(s)	Ohmiya, Mayumi
Citation	Osaka Journal of Mathematics. 1995, 32(2), p. 409–430
Version Type	VoR
URL	https://doi.org/10.18910/8053
rights	
Note	

The University of Osaka Institutional Knowledge Archive : OUKA

https://ir.library.osaka-u.ac.jp/

The University of Osaka

Ohmiya, M. Osaka J. Math. 32 (1995), 409-430

KdV POLYNOMIALS AND A-OPERATOR

ΜΑΥυΜΙ ΟΗΜΙΥΑ

(Received November 10, 1992)

1. Introduction

The purpose of the present paper is to clarify certain algebraic properties of the spectrum of the second order ordinary differential operator

$$H(u) = -\partial^2 + u(x),$$

where u(x) is a meromorphic function defined in a region of the complex plane and $\partial = '=d/dx$. The integro-differential operator

$$\Lambda(u) = \partial^{-1} \cdot \left(\frac{1}{2}u'(x) + u(x)\partial - \frac{1}{4}\partial^3\right)$$

plays crucial role in our approach, where $A \cdot B$ denotes the product of the operators A and B. The operator $\Lambda(u)$ is usually called the Λ -operator or the recursion operator. The Λ -operator generates the infinite sequence of differential polynomials as follows; put $Z_0(u) = 1$ and define functions $Z_n(u)$, $n \in N$ by the recurrence relation $Z_n(u) = \Lambda(u)Z_{n-1}(u)$, $n \in N$. Then it turns out that $Z_n(u)$ are the differential polynomials in $u, u', \dots, u^{(2n-2)}$ with constant coefficients. We call the differential polynomials $Z_n(u)$, $n \in Z_+$ the KdV polynomials.

Now, let V(u) be the vector space over the complex number field C spanned by $Z_n(u)$, $n \in \mathbb{Z}_+$, then $\Lambda(u) \in \operatorname{End}(V(u))$, i.e. $\Lambda(u)$ can be regarded as the operator in V(u). If V(u) is finite dimensional then the principal part of the problem concerned with H(u) can be reduced to consideration of certain algebraic properties of $\Lambda(u) \in \operatorname{End}(V(u))$. We want to call this method the Λ -algorithm. The main purpose of the present paper is to investigate the spectrum of H(u) by the Λ -algorithm.

On the other hand, the present work is deeply related to the algebraic theory of the Darboux transformation. Those problems were discussed in [18]. See also [17].

The contents of this paper are as follows. In §2, the precise definitions of the Λ -operator and the KdV polynomials are given. In §3, the expansion theorem for the KdV polynomials is obtained. In §4, the notion of Λ -rank is introduced. In §5, the spectrum $\Gamma(u)$ of the opertor H(u) is defined and certain class of eigenfunctions of H(u) are exactly constructed by using the Λ -operator. In §6, the problem

M. OHMIYA

related to the classical theorem of Ince is discussed. In §7, the trace formulae of McKean-Trubowitz type are proved by Λ -algorithm.

A part of the present paper is announced in [16].

The author would like to express his sincere thanks to Dr. Yordan P. Mishev for a number of useful advice.

2. KdV polynomials

Let \mathscr{A} be a differential algebra over the complex number field C of polynomials in infinite formal symbols $u_v, v \in \mathbb{Z}_+ = \mathbb{N} \cup \{0\}$ with the derivation $\delta = \sum_{v=0}^{\infty} u_{v+1} \partial \partial u_v$. We denote its subalgebra of polynomials without constants by \mathscr{A}_0 . Put $\widehat{\mathscr{A}}_0 = \delta \mathscr{A}_0$ then one can define the inverse δ^{-1} of the derivation $\delta : \mathscr{A}_0 \to \widehat{\mathscr{A}}_0$. On the other hand, put

$$\hat{K} = \frac{1}{2}u_1 + u_0\delta - \frac{1}{4}\delta^3,$$

then it is known that $\hat{K} \cdot (\delta^{-1} \cdot \hat{K})^{n-1} 1$ belong to $\hat{\mathscr{A}}_0$ for all $n \in N$ (cf. [20] or [15, p. 621 Lemma 3.1]). Hence the set $\{\hat{A}^n 1 | n \in N\}$ is well defined as the orbit in \mathscr{A}_0 , where $\hat{A} = \delta^{-1} \cdot \hat{K}$. Since $\hat{A}^n 1$ are the polynomials in $u_0, u_1, \dots, u_{2n-2}, n \in N$ (cf. [20] or [15]), we denote them by $P_n(u_0, u_1, \dots, u_{2n-2})$;

$$\widehat{A}^n 1 = P_n(u_0, u_1, \cdots, u_{2n-2}).$$

On the other hand, let u(x) be a meromorphic function of the one complex variable x. Let $\mathscr{A}(u)$ be the differential algebra of differential polynomials in u(x). Now let us identify the derivatives $u^{(v)} = \partial^v u(x) \in \mathscr{A}(u), v \in \mathbb{Z}_+$ and the differential operator ∂ with the variables $u_v, v \in \mathbb{Z}_+$ and the derivation δ respectively. By this identification, we can define the subalgebras $\mathscr{A}_0(u)$ and $\widehat{\mathscr{A}}_0(u)$ correponding to \mathscr{A}_0 and $\widehat{\mathscr{A}}_0$ respectively. Then one can define the operator $\partial^{-1}: \widehat{\mathscr{A}}_0(u) \to \mathscr{A}_0(u)$ by identifying with the operator $\delta^{-1}: \widehat{\mathscr{A}}_0 \to \mathscr{A}_0$. The operators \widehat{K} and \widehat{A} are identified with the third order differential operator

$$K(u) = \frac{1}{2}u'(x) + u(x)\partial - \frac{1}{4}\partial^3$$

and $\Lambda(u) = \partial^{-1} \cdot K(u)$ respectively. Moreover put

$$Z_n(u(x)) = P_n(u(x), u'(x), \dots, u^{(2n-2)}(x)), \quad n \in \mathbb{N}$$

and $Z_0(u(x)) \equiv 1$, which are called the KdV polynomials. We also use the differential polynomials $X_n(u(x)) = \partial Z_n(u(x))$. The KdV polynomials $Z_n(u)$, $n \in \mathbb{Z}_+$ are represented by the recurrence relation

$$Z_n(u) = \Lambda(u) Z_{n-1}(u), \quad n \in \mathbb{N}$$

with $Z_0(u) = 1$. At the same time, they are represented by the commutator representation of Lax type

(1)
$$Z_n(u) = \frac{1}{2} \partial^{-1} [A_n(u), H(u)],$$

where

(2)
$$A_n(u) = \sum_{j=0}^n (Z_j(u)\partial - \frac{1}{2}X_j(u)) \cdot H(u)^{n-j}$$

and $[A,B] = A \cdot B - B \cdot A$ (cf. [10, p.220, Lemma 12.3.1] or [20, p.4]).

3. Expansion theorem

In this section, we consider the expansion theorem for the KdV polynomial. First we have the following.

Lemma 1. For any $\lambda \in C$ and $m \in N$, $Z_m(u(x) + \lambda)$ belongs to V(u), i.e., there exist $\alpha_{mv}(\lambda), v = 0, 1, \dots, m$ such that

$$Z_m(u(x)+\lambda) = \sum_{\nu=0}^m \alpha_{m\nu}(\lambda) Z_{\nu}(u(x)).$$

The coefficients $\alpha_{mv}(\lambda)$ satisfy the recurrence formulae

(3)
$$\alpha_{m+1\nu}(\lambda) = \begin{cases} \alpha_{mm}(\lambda) & \text{for } \nu = m+1 \\ \alpha_{m\nu-1}(\lambda) + \lambda \alpha_{m\nu}(\lambda) & \text{for } \nu = 1, 2, \cdots, m \end{cases}$$

with $\alpha_{00}(\lambda) = 1$.

Proof. First assume that

$$Z_l(u(x) + \lambda) = \sum_{\nu=0}^l \alpha_{l\nu}(\lambda) Z_{\nu}(u(x)).$$

are valid for any $l \le m$. Actually this is true for m = 1. Differentiating both sides of the above, we have

$$X_{l}(u(x) + \lambda) = \sum_{\nu=1}^{l} \alpha_{l\nu}(\lambda) X_{\nu}(u(x)).$$

Hence, by (2), one has

$$A_{m}(u(x) + \lambda)$$

$$= \sum_{l=0}^{m} (Z_{l}(u(x) + \lambda)\partial - \frac{1}{2}X_{l}(u(x) + \lambda)) \cdot H(u(x) + \lambda)^{m-l}$$

$$= \sum_{l=0}^{m} \sum_{\nu=0}^{l} \alpha_{l\nu}(\lambda)(Z_{\nu}(u(x))\partial - \frac{1}{2}X_{\nu}(u(x))) \cdot H(u(x) + \lambda)^{m-l}.$$

Let f(x) be a nontrivial solution of the equation

(4)
$$H(u+\lambda)f(x) = -f''(x) + (u(x)+\lambda)f(x) = 0,$$

then, by (1), one verifies

(5)
$$X_{m+1}(u(x)+\lambda)f(x) = \frac{1}{2}[A_m(u+\lambda), H(u+\lambda)]f(x)$$
$$= -\frac{1}{2}H(u+\lambda)A_m(u+\lambda)f(x)$$

and

(6)
$$A_{m}(u+\lambda)f(x) = \sum_{\nu=0}^{m} \alpha_{m\nu}(\lambda)(Z_{\nu}(u(x)))\partial - \frac{1}{2}X_{\nu}(u(x)))f(x).$$

Combining (5) and (6), one has

$$\begin{aligned} X_{m+1}(u(x) + \lambda)f(x) \\ &= -\frac{1}{2}H(u+\lambda)\sum_{\nu=0}^{m} \alpha_{m\nu}(\lambda)(Z_{\nu}(u(x)))f'(x) - \frac{1}{2}X_{\nu}(u(x))f(x)). \end{aligned}$$

Calculate the right hand side of the above and eliminate f'' and f''' by (4) and

$$f'''(x) = u'(x)f(x) + (u(x) + \lambda)f'(x),$$

then we have immediately

$$\begin{aligned} X_{m+1}(u(x)+\lambda)f(x) \\ &= \sum_{\nu=0}^{m} \alpha_{m\nu}(\lambda)(K(u)Z_{\nu}(u(x))+\lambda\partial Z_{\nu}(u(x)))f(x) \\ &= \alpha_{mm}(\lambda)X_{m+1}(u(x))f(x) + \sum_{\nu=1}^{m} (\alpha_{m\nu-1}(\lambda)+\lambda\alpha_{m\nu}(\lambda)X_{\nu}(u(x)))f(x). \end{aligned}$$

This implies that there exist $\alpha_{m+1\nu}(\lambda), \nu = 1, 2, \dots, m+1$ such that

$$X_{m+1}(u(x) + \lambda) = \sum_{\nu=1}^{m+1} \alpha_{m+1\nu}(\lambda) X_{\nu}(u(x))$$

and

$$\alpha_{m+1\nu}(\lambda) = \begin{cases} \alpha_{mm}(\lambda) & \text{for } \nu = m+1 \\ \alpha_{m\nu-1}(\lambda) + \lambda \alpha_{m\nu}(\lambda) & \text{for } \nu = 1, 2, \dots, m. \end{cases}$$

This completes the proof.

Note that we can not determine $\alpha_{m0}(\lambda)$ by the recurrence formulae (3). To determine them, we prove the following.

Lemma 2. The differential polynomial $Z_m(u(x))$ contains $\beta_m u(x)^m$ as its term, while the remainder terms of $Z_m(u(x))$ contain derivatives of u(x) as their variables, where

$$\beta_m = \frac{(2m)!}{2^{2m}(m!)^2}.$$

Proof. We prove this by induction on *m*. First, note that the assertion holds for m=1 because $Z_1(u(x)) = \frac{1}{2}u(x)$. Assume now that the assertion is correct for m-1. Put

$$Y_m(u) = Z_{m-1}(u) - \beta_{m-1}u^{m-1},$$

then each term of $Y_m(u)$ contains derivatives of u(x) as its variables. By direct calculation, we have

$$Z_{m}(u) = \beta_{m-1}\Lambda(u)u^{m-1} + \Lambda(u)Y_{m}(u)$$

= $\frac{2m-1}{2m}\beta_{m-1}u^{m} - \frac{1}{4}\beta_{m-1}(m-1)(m-2)u^{m-3}u'^{2}$
 $- \frac{1}{4}\beta_{m-1}(m-1)u^{m-2}u'' + \Lambda(u)Y_{m}(u).$

Note that

$$\beta_m = \frac{2m-1}{2m}\beta_{m-1}$$

holds. Therefore it suffices to show that each term of $\Lambda(u)Y_m(u)$ contains the derivatives of u(x) as their variable. Conversely assume that at least one of terms of $\Lambda(u)Y_m(u)$ contains no derivatives of u(x) as its variables. Let *l* be the lowest

degree of such terms. This implies that $K(u)Y_m(u)$ contains the term of the form $l\beta u^{l-1}u'$. On the other hand, we have

$$K(u) Y_m(u) = \frac{1}{2} Y_m(u)u' + Y_m(u)'u - \frac{1}{4} Y_m(u)'''.$$

Hence one can see that Y(u) contains the term $2l\beta u^{l-1}$. This is contradiction. Therefore this completes the proof.

Since $Z_{\nu}(0) \equiv 0$ for $\nu \ge 1$ and $Z_0(0) \equiv 1$, one verifies readily

$$Z_m(\lambda) = \sum_{\nu=0}^m \alpha_{\nu}^{(m)}(\lambda) Z_{\nu}(0) = \alpha_{m0}(\lambda).$$

On the other hand, by lemma 2, we have

$$Z_m(\lambda) = \beta_m \lambda^m = \frac{(2m)!}{2^{2m}(m!)^2} \lambda^m.$$

This implies

$$\alpha_{m0}(\lambda) = \frac{(2m)!}{2^{2m}(m!)^2} \lambda^m.$$

Calculating the recurrence formulae (3) with the above expression for $\alpha_{m0}(\lambda)$, we have the following.

Theorem 3. Define $\alpha_{v}^{(n)}, v = 0, 1, 2, \dots, n$ by the recurrence formulae

$$\alpha_{v}^{(n)} = \begin{cases} 1 & \text{for } v = n \\ \alpha_{v-1}^{(n-1)} + \alpha_{v}^{(n-1)} & \text{for } v = 1, 2, \dots, n-1 \\ \frac{(2n)!}{2^{2n}(n!)^{2}} & \text{for } v = 0 \end{cases}$$

with $\alpha_v^{(0)} = 1$. Then

(7)
$$Z_n(u(x)+\lambda) = \sum_{\nu=0}^n \alpha_{\nu}^{(n)} Z_{\nu}(u(x)) \lambda^{n-\nu}$$

holds for any $\lambda \in C$.

Next we consider certain arithmetic properties of the coefficients $\alpha_{\nu}^{(n)}$.

Proposition 4. The binomial coefficients $\alpha_v^{(n)}, v = 0, 1, \dots, n$ satisfy the following relations;

(8)
$$\sum_{\nu=1}^{n} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu}^{(n)} = 1,$$

(9)
$$\sum_{\nu=0}^{n} (-1)^{\nu} \alpha_{0}^{(\nu)} \alpha_{\nu}^{(n)} = 0.$$

Proof. Suppose $n \ge 1$. Since $Z_n(0) = 0$, by Theorem 3, we have

$$Z_n(1-1) = \sum_{\nu=0}^n (-1)^{n-\nu} \alpha_{\nu}^{(n)} Z_{\nu}(1) = 0$$

On the other hand, by (7), one verifies

$$\sum_{\nu=0}^{n} (-1)^{n-\nu} \alpha_{\nu}^{(n)} Z_{\nu}(1) = (-1)^{n} \sum_{\nu=0}^{n} (-1)^{\nu} \alpha_{0}^{(\nu)} \alpha_{\nu}^{(n)}.$$

Hence (9) follows. Next we prove (8) by induction on *n*. Since $\alpha_0^{(0)}\alpha_1^{(1)} = 1$, (8) holds for n = 1. Assume that

$$\sum_{\nu=1}^{n-1} (-1)^{\nu-1} \alpha_0^{(\nu-1)} \alpha_{\nu}^{(n-1)} = 1$$

holds. Then we have

$$\sum_{\nu=1}^{n} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu}^{(n)}$$

= $\sum_{\nu=1}^{n-1} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} (\alpha_{\nu-1}^{(n-1)} + \alpha_{\nu}^{(n-1)} + (-1)^{n-1} \alpha_{0}^{(n-1)} \alpha_{n}^{(n)}$
= $\sum_{\nu=1}^{n} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu-1}^{(n-1)} + \sum_{\nu=1}^{n-1} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu}^{(n-1)},$

since $\alpha_n^{(n)} = \alpha_{n-1}^{(n-1)} = 1$. The first term of the above vanishes by (9) and the second term coincides with 1 by the assumption. This completes the proof.

3. A-rank

In this section we introduce the notion of Λ -rank. Let V(u) be the vector space over C spanned by the infinite sequence of the KdV polynomials $Z_m(u), m \in \mathbb{Z}_+$, i.e.,

$$V(u) = \bigcup_{m \in \mathbb{Z}_+} CZ_m(u).$$

If V(u) is finite diminsional, then we say that the Λ -rank of the meromorphic function u(x) is finite and define rank $\Delta u(x)$ by

$$\operatorname{rank}_{A} u(x) = \dim_{C} V(u) - 1.$$

First we have the following.

Lemma 5. If $n = \operatorname{rank}_{A}u(x) < \infty$ then V(u) is spanned by $Z_{v}(u)$, $v = 0, 1, \dots, n$, i.e., $V(u) = \bigoplus_{v=0}^{n} CZ_{v}(u)$.

Proof. Since $Z_0(u) \neq 0$ and V(u) is finite dimensional, there exists $m \in N$ such that $Z_0(u), Z_1(u), \dots, Z_m(u)$ are linearly independent and $Z_0(u), Z_1(u), \dots, Z_m(u), Z_{m+1}(u)$ are linearly dependent. Hence there exist $c_{v,v} = 0, 1, \dots, m$ such that

$$Z_{m+1}(u) = \sum_{\nu=0}^{m} c_{\nu} Z_{\nu}(u).$$

Then, operating with $\Lambda(u)$ on both sides of the above, we have

$$Z_{m+2}(u) = \Lambda(u)Z_{m+1}(u)$$

= $\sum_{\nu=0}^{m} c_{\nu}\Lambda(u)Z_{\nu}(u)$
= $c_{m}Z_{m+1}(u) + \sum_{\nu=0}^{m-1} c_{\nu}Z_{\nu+1}(u)$
= $c_{m}\sum_{\nu=0}^{m} c_{\nu}Z_{\nu}(u) + \sum_{\nu=0}^{m-1} c_{\nu}Z_{\nu+1}(u)$
= $\sum_{\nu=1}^{m} (c_{\nu-1} + c_{m}c_{\nu})Z_{\nu}(u) + c_{m}c_{0}Z_{0}(u).$

Similarly to the above, one verifies that $Z_{m+\nu}(u)$ can be expressed as the linear combination of $Z_0(u), Z_1(u), \dots, Z_m(u)$ for any $\nu \in N$. This implies dim V(u) = m+1. Hence m=n follows. This completes the proof.

Suppose $n = \operatorname{rank}_{A} u(x) < \infty$ then, by lemma 1, there uniquely exist $a_{v}(u), v = 0, 1, \dots, n$ such that

(10)
$$Z_{n+1}(u(x)) = \sum_{\nu=0}^{n} \alpha_{\nu}(u) Z_{\nu}(u(x)).$$

We call $a_v(u), v=0,1,\dots,n$ the A-characteristic coefficients of u(x). Moreover we call the monic polynomial of degree n+1

$$\Omega(\lambda; u) = \lambda^{n+1} - \sum_{\nu=0}^{n} a_{\nu}(u) \lambda^{\nu}$$

the A-characteristic polynomial. By Theorem 3, we have readily the following.

Proposition 6. For any $\lambda \in C$

$$\operatorname{rank}_{\Lambda}(u(x)-\lambda) = \operatorname{rank}_{\Lambda}u(x)$$

holds.

Hence, if $n = \operatorname{rank}_{\Lambda} u(x) < \infty$ then there exist $a_v(\lambda; u), v = 0, 1, \dots, n$ such that

$$Z_{n+1}(u(x)-\lambda) = \sum_{\nu=0}^{n} a_{\nu}(\lambda; u) Z_{\nu}(u(x)-\lambda).$$

Of course, $a_v(0; u) = a_v(u)$ holds for any $v = 0, 1, \dots, n$. More precisely, we have the following.

Lemma 7. If $n = \operatorname{rank}_{\lambda} u(x) < \infty$ then $a_{\nu}(\lambda; u), \nu = 0, 1, \dots, n$ are the polynomials in λ of degree $n - \nu + 1$;

$$a_{\nu}(\lambda; u) = -\alpha_{\nu}^{(n+1)}\lambda^{n-\nu+1} + \sum_{j=\nu}^{n}\alpha_{\nu}^{(j)}a_{j}(u)\lambda^{j-\nu}.$$

Proof. By Therem 3, we have

$$Z_{n+1}(u(x)) = Z_{n+1}((u(x) - \lambda) + \lambda)$$

= $Z_{n+1}(u(x) - \lambda) + \sum_{\nu=0}^{n} \alpha_{\nu}^{(n+1)} Z_{\nu}(u(x) - \lambda) \lambda^{n-\nu+1}$
= $\sum_{\nu=0}^{n} (a_{\nu}(\lambda; u) + \alpha_{\nu}^{(n+1)} \lambda^{n-\nu+1}) Z_{\nu}(u(x) - \lambda).$

On the other hand, we have

$$Z_{n+1}(u(x)) = \sum_{j=0}^{n} a_j(u) Z_j((u(x) - \lambda) + \lambda)$$

= $\sum_{j=0}^{n} a_j(u) \sum_{\nu=0}^{j} \alpha_{\nu}^{(j)} Z_{\nu}(u(x) - \lambda) \lambda^{j-\nu}$

$$=\sum_{\nu=0}^{n}\left(\sum_{j=\nu}^{n}\alpha_{\nu}^{(j)}a_{j}(u)\lambda^{j-\nu}\right)Z_{\nu}(u(x)-\lambda).$$

This implies that

$$a_{\nu}(\lambda; u) + \alpha_{\nu}^{(n+1)} \lambda^{n-\nu+1} = \sum_{j=\nu}^{n} \alpha_{\nu}^{(j)} a_{j}(u) \lambda^{j-\nu}$$

are valid for $v=0,1,\dots,n$. This completes the proof.

4. Construction of eigenfunctions

In this section we construct special class of exact solutions of the eigenvalue problem

(11)
$$(H(u) - \lambda)f(x) = 0, \quad \lambda \in C$$

by the Λ -algorithm when Λ -rank of u(x) is finite.

Suppose $n = \operatorname{rank}_{A} u(x) < \infty$ and put

(12)
$$F(x;\lambda) = Z_n(u(x) - \lambda) - \sum_{\nu=1}^n a_{\nu}(\lambda; u) Z_{\nu-1}(u(x) - \lambda).$$

Then, since rank $\lambda(u(x) - \lambda) = n$, $F(x; \lambda)$ is not identically zero for any $\lambda \in C$. One verifies

$$A(u(x) - \lambda)F(x; \lambda)$$

= $\partial^{-1} \cdot \left(\frac{1}{2}u'(x) + (u(x) - \lambda)\partial - \frac{1}{4}\partial^3\right)F(x; \lambda)$
= $a_0(\lambda; u).$

Hence

$$K(u(x) - \lambda)F(x; \lambda)$$

= $\frac{1}{2}u'(x)F(x; \lambda) + (u(x) - \lambda)F_x(x; \lambda) - \frac{1}{4}F_{xxx}(x; \lambda)$
= 0

follows. Suppose that u(x) is holomorphic at x=a. Let $f_j(x; \lambda), j=1,2$ be the fundamental system of solutions of (11) such that

$$\begin{pmatrix} f_1(a;\lambda) & f_2(a;\lambda) \\ f'_1(a;\lambda) & f'_2(a;\lambda) \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}.$$

Then, by [19, p.23, Theorem 7], there exist $\alpha_i(\lambda)$, j = 1, 2, 3 such that

$$F(x;\lambda) = \alpha_1(\lambda)f_1(x;\lambda)^2 + \alpha_2(\lambda)f_1(x;\lambda)f_2(x;\lambda) + \alpha_3(\lambda)f_2(x;\lambda)^2,$$

that is, $F(x; \lambda)$ can be represented as the quadratic form with the variables $f_j(x; \lambda)$, j = 1, 2. We have the following.

Lemma 8. The coefficients $\alpha_i(\lambda)$, j = 1, 2, 3 are the polynomials in λ expressed as

$$\alpha_{j}(\lambda) = \begin{cases} F(a;\lambda) & \text{for } j=1 \\ F_{x}(a;\lambda) & \text{for } j=2 \\ \frac{1}{2}F_{xx}(a;\lambda) - (u(a) - \lambda)F(a;\lambda) & \text{for } j=3. \end{cases}$$

Proof. Note that $f_1(a; \lambda) = f'_2(a; \lambda) = 1$ and $f'_1(a; \lambda) = f_2(a; \lambda) = 0$. Then, by direct calculation, one verifies

$$F(a; \lambda) = \alpha_1(\lambda)$$
$$F_x(a; \lambda) = \alpha_2(\lambda)$$

and

$$F_{xx}(a;\lambda) = 2\alpha_1(\lambda)(u(a) - \lambda) + 2\alpha_3(\lambda).$$

By lemma 7, $F(a; \lambda)$, $F_x(a; \lambda)$ and $F_{xx}(a; \lambda)$ are polynomials in λ . This completes the proof.

Let $\Delta(\lambda, u) = \alpha_2(\lambda)^2 - 4\alpha_1(\lambda)\alpha_3(\lambda)$ be the discriminant of the quadratic form $F(x; \lambda)$. Then, by lemma 8, we have immediately

(13)
$$\Delta(\lambda, u) = F_x(a; \lambda)^2 - 2F(a; \lambda)F_{xx}(a; \lambda) + 4(u(a) - \lambda)F(a; \lambda)^2.$$

Hence $\Delta(\lambda, u)$ is the polynomial in λ . To investigate it more precisely, we have the following.

Lemma 9. $F(x; \lambda)$ is the monic polynomial of degree n in λ for any x.

Proof. By Theorem 3 and lemma 7, we have

$$F(x;\lambda) = \sum_{j=0}^{n} (-1)^{n-j} \alpha_j^{(n)} Z_j(u(x)) \lambda^{n-j} + \sum_{\nu=1}^{n} \alpha_{\nu}^{(n+1)} \lambda^{n-\nu+1} \sum_{k=0}^{\nu-1} (-1)^{\nu-k-1} \alpha_k^{(\nu-1)} Z_k(u(x)) \lambda^{\nu-k-1}$$

+ lower terms
=
$$\sum_{\nu=1}^{n+1} (-1)^{\nu-1} \alpha_0^{(\nu-1)} \alpha_{\nu}^{(n+1)} \lambda^n$$
 + lower terms.

The assertion immediately follows from the formula (8).

Hence we have the following.

Corollary 10. The discriminant $\Delta(\lambda; u)$ is the polynomial of degree 2n + 1 in λ ;

$$\Delta(\lambda; u) = -4\lambda^{2n+1} + \text{lower terms.}$$

Therefore, if we put

$$\Gamma(u) = \{\lambda \in C | \Delta(\lambda; u) = 0\},\$$

then $\#\Gamma(u) \le 2n+1$ follows, where # denotes cardinality of the set. Moreover, since

$$\frac{\partial}{\partial a} \Delta(\lambda; u) = 8F(a; \lambda) \left(\frac{1}{2} u'(a) F(a; \lambda) + (u(a) - \lambda) F_{x}(a; \lambda) - \frac{1}{4} F_{xxx}(a; \lambda) \right) = 0,$$

 $\Delta(\lambda; u)$ and $\Gamma(u)$ are independent of choice of the holomorphic point x=a of u(x). In the case of Hill's operator, $\Gamma(u)$ corresponds to its periodic spectrum (cf. [12]). Hence we call $\Gamma(u)$ the A-spectrum.

Now suppose $\lambda_j \in \Gamma(u)$ then there exist the constants β_{ij} , $i=1,2,j=0,1,\cdots,2n$ such that

$$F(x;\lambda_j) = (\beta_{1j}f_1(x;\lambda_j) + \beta_{2j}f_2(x;\lambda_j))^2.$$

Thus we proved the following.

Theorem 11. Suppose $n = \operatorname{rank}_{A}u(x) < \infty$. Then the Λ -spectrum $\Gamma(u)$ is uniquely defined for u(x) and $\#\Gamma(u) \le 2n+1$ holds. Moreover, if $\lambda_j \in \Gamma(u), j=0, 1, \dots, 2n$ then

$$g_j(x) = \sqrt{F(x;\lambda_j)}, \qquad j = 0, 1, \cdots, 2n$$

are the corresponding eigenfunctions of the eigenvalue problem (11).

Such an algorithm to construct eigenfunctions as above has been already developed by several authors from somewhat different point of view. See e.g.

[12, §6, pp. 235–236].

On the other hand, it is known that $Z_i(u)\partial Z_j(u) \in \hat{\mathscr{A}}_0(u)$ hold for any $i, j \in \mathbb{Z}_+$ (cf. [6, p. 168, Proposition 12.1.12]). Hence there exist $I_{ij}(u) = \partial^{-1}(Z_i(u)\partial Z_j(u)) \in \mathscr{A}_0(u), i, j \in \mathbb{N}$. Put

$$J_k(u(x)) = I_{n+1k}(u(x)) - \sum_{v=0}^n a_v(u) I_{vk}(u(x)), \qquad k = 1, 2, \cdots, n$$

then they are the nontrivial first integrals of the 2n - 2 th order ordinary differential equation (10), i.e., $\partial J_k(u) \equiv 0$. Hence there exist the constants c_k such that $J_k(u) \equiv c_k, k = 1, 2, \dots, n$. Using these relations, one can reduce the expression of $F(x; \lambda_j), \lambda_j \in \Gamma(u)$ as the differential polynomials. Here we refer [6] for the Hamiltonian method in the study of the differential equation (10). See also [2] and [21].

5. Ince's theorem

Let $\mathscr{P}(x)$ be the Weierstrass elliptic function with the real primitive period $\omega_1 = \pi$ and the imaginary primitive period ω_3 . Put $p(x) = \mathscr{P}(x + \frac{1}{2}\omega_3), x \in \mathbb{R}$. Ince [9] proved that if $n \in \mathbb{Z}_+$ then the differential operator H(n(n+1)p(x)) in the class of functions of period 2π has 2n+1 simple eigenvalues $\lambda_0 < \lambda_1 < \cdots < \lambda_{2n}$. See also [1] and [11]. Hence, by the results of soliton theory (cf. [7, p. 84] or [12, p. 234]), rank $_{\Delta}n(n+1)\mathscr{P}(x) = n$ follows. The purpose of this section is to prove the above fact within the framework of Λ -algorithm.

Suppose rank Au(x) = 1 and $k \in C \setminus \{0\}$. Put $u_k = u_k(x) = ku(x)$. Since

$$Z_1(u) = \frac{1}{2}u, \qquad Z_2(u) = \frac{1}{8}(3u^2 - u''),$$

one verifies

(14)
$$u_k'' = \frac{3}{k}u_k^2 - 4a_1(u)u_k - 8a_0(u)k,$$

where $a_0(u)$ and $a_1(u)$ are the Λ -characteristic coefficients of u(x). This also implies

(15)
$$(u'_k)^2 = \frac{2}{k} u_k^3 - 4a_1(u)u_k^2 - 16a_0(u)ku_k + c,$$

where c is a constant. By (14) and (15), one can eliminate the derivatives $u_k^{(s)}(x), s \ge 2$ and $(u'_k(x))^{2l}, l \ge 1$ from the differential polynomial $Z_m(u_k)$. Thus we have

(16)
$$Z_m(u_k) = P_m(u_k) + Q_m(u_k)u'_k,$$

where $P_m(u_k)$ and $Q_m(u_k)$ are the polynomials in u_k . On the other hand, one verifies

$$\partial Z_m(u_k) = \frac{\partial}{\partial u_k} P_m(u_k) u'_k + \frac{\partial}{\partial u_k} Q_m(u_k) (u'_k)^2 + Q_m(u_k) u''_k.$$

Now put

$$R_{m}(u_{k}) = \left(\frac{2}{k}u_{k}^{3} - 4a_{1}(u)u_{k}^{2} - 16a_{0}(u)ku_{k} + c\right)\frac{\partial}{\partial u_{k}}Q_{m}(u_{k})$$
$$+ \left(\frac{3}{k}u_{k}^{2} - 4a_{1}(u)u_{k} - 8ka_{0}(u)\right)Q_{m}(u_{k})$$

and

$$S_m(u_k) = \frac{\partial}{\partial u_k} P_m(u_k),$$

which are the polynomials in u_k . Then, by (14) and (15), one verifies

$$\partial Z_m(u_k) = R_m(u_k) + S_m(u_k)u'_k.$$

Here we show the following.

Lemma 12. $P_m(u_k)$ is the polynomial of degree m in u_k ;

$$P_m(u_k) = \sum_{j=0}^m P_{mj}(k)u_k^j.$$

The leading coefficient $p_{mm}(k)$ satisfies the recurrence relation

(17)
$$p_{m+1m+1}(k) = \frac{(2m+1)(2k-m(m+1))}{4k(m+1)}p_{mm}(k).$$

Moreover

$$Q_m(u_k) = R_m(u_k) = 0$$

holds.

Proof. We prove this by induction on m. The assertion is obviously correct for m=1. Assume that the assertion is correct for m. Operate with $\Lambda(u)$ on both sides of (16). Then we have

(18)
$$Z_{m+1}(u_k) = \Lambda(u_k)(P_m(u_k) + Q_m(u_k)u'_k) = \sum_{j=0}^m \frac{2j+1}{2(j+1)} p_{mj}(k)u_k^{j+1} - \frac{1}{4} \sum_{j=2}^m j(j-1)p_{mj}(k)u_k^{j-2}(u'_k)^2 - \frac{1}{4} \sum_{j=1}^m ju_k^{j-1}u''_k.$$

Eliminate u_k'' and $(u_k')^2$ by (14) and (15) respectively. Then $Z_{m+1}(u_k)$ turns out to be the polynomial of degree m+1 in u_k , that is,

$$Z_{m+1}(u_k) = P_{m+1}(u_k)$$

and $Q_{m+1}(u_k) = 0$. Moreover one verifies (17) by calculating the coefficient of u_k^{m+1} in (18). This completes the proof.

Finally we prove the following.

Theorem 13. If rank Au(x) = 1 then

$$\operatorname{rank}_{A} \frac{n(n+1)}{2} u(x) = n$$

holds for any $n \in N$.

Proof. For brevity, we use the notation $v_n = \frac{n(n+1)}{2}u$ in this proof. By lemma 12, we have

(19)
$$Z_{n+1}(v_n) = \sum_{j=0}^{n+1} p_{n+1j}\left(\frac{n(n+1)}{2}\right) v_n^j.$$

Moreover, $p_{n+1n+1}(\frac{n(n+1)}{2}) = 0$ follows from (17). On the other hand, let us consider the system of n+1 linear algebraic equations

(20)
$$\sum_{i=j}^{n} p_{ij}\left(\frac{n(n+1)}{2}\right) b_i = p_{n+1j}\left(\frac{n(n+1)}{2}\right), \quad j = 0, 1, \dots, n$$

for the n+1 unknowns b_0, b_1, \dots, b_n . The coefficient matrix of the system of linear equations (20) is the upper triangle matrix with the diagonal elements $p_{mm}(\frac{n(n+1)}{2})$, $m=0,1,\dots,n$. By induction based on the recurrence formula (17), one easily verifies

$$p_{mm}\left(\frac{n(n+1)}{2}\right) = \frac{(2m)!}{2^{2m}n^m(n+1)^m(m!)^2} \prod_{j=1}^m (n+j)(n-j+1).$$

Hence $p_{mm}(\frac{n(n+1)}{2}) \neq 0$, $m = 0, 1, \dots, n$ follows. Thus (20) is uniquely solvable. Let b_0, b_1, \dots, b_n be the unique solutions of (20). Then, by (19) and (20), one has

$$\sum_{i=0}^{n} b_i Z_i(v_n) = \sum_{i=0}^{n} b_i \sum_{j=0}^{i} p_{ij} \left(\frac{n(n+1)}{2} \right) v_n^i$$
$$= \sum_{j=0}^{n} \left(\sum_{i=j}^{n} p_{ij} \left(\frac{n(n+1)}{2} \right) b_i \right) v_n^i$$

M. Ohmiya

$$= \sum_{j=0}^{n} p_{n+1j} \left(\frac{n(n+1)}{2} \right) v_n^j = Z_{n+1}(v_n)$$

This implies rank $v_n \le n$. On the other hand, suppose that

$$\sum_{\nu=0}^{n} c_{\nu} Z_{\nu}(v_{n}) = 0$$

are valid for some c_0, c_1, \dots, c_n . Then, similarly to the above, one verifies that $c_0 = c_1 = \dots = c_n = 0$ hold. Thus we proved rank $v_n = n$. This completes the proof.

Here we briefly mention about the function of Λ -rank 1. Let rank $_{\Lambda}u(x) = 1$ then there exist the Λ -characteristic coefficients $a_{v}(u), v = 0, 1$ such that

$$Z_2(u(x)) = a_1(u)Z_1(u(x)) + a_0(u)Z_0(u(x)).$$

We have

$$u'' - 3u^2 + 4a_1(u)u + 8a_0(u) = 0$$

This equation has the following three type solutions; the rational function $2\lambda^2(\lambda x + a)^{-2} + b$, the trigonometric function $2\lambda^2 \sin^{-2}(\lambda x + a) + b$, and the elliptic function $2\lambda^2 \mathscr{P}(\lambda x + a) + b$. Therefore we have the following.

Corollary 14. The following are valid;

$$\operatorname{rank}_{\lambda}\left(\frac{n(n+1)\lambda^{2}}{(\lambda x+a)^{2}}+b\right)=n,$$
$$\operatorname{rank}_{\lambda}\left(\frac{n(n+1)\lambda^{2}}{\sin^{2}(\lambda x+a)}+b\right)=n,$$

rank_A $(n(n+1)\lambda^2 \mathcal{P}(\lambda x+a)+b)=n.$

7. McKean-Trubowitz type trace formula

Let q(x), $-\infty < x < \infty$ be a real smooth function of period 1, then the spectrum of Hill's operator $-\partial^2 + q(x)$ in the class of functions of period 2 is a discrete series

$$-\infty < \lambda_0 < \lambda_1 \le \lambda_2 < \lambda_3 \le \lambda_4 < \cdots < \lambda_{2i-1} \le \lambda_{2i} < \cdots.$$

Let $f_{\nu}(x), \nu \in \mathbb{Z}_+$ be corresponding normalized eigenfunctions. In [13], McKean and Trubowitz proved that there exist $\varepsilon_{\nu} \in \mathbb{R}, \nu \in \mathbb{Z}_+$ such that

(21)
$$\sum_{\nu=0}^{\infty} \varepsilon_{\nu} f_{\nu}(x)^2 = 1,$$

where $\varepsilon_0 > 0$ and $\varepsilon_v \ge 0$ with equality if and only if $\lambda_{2v} = \lambda_{2v-1}$. See also [12], [4] and [5]. In this section, we want to understand the above trace formula (21) of McKean-Trubowitz type from the viewpoint of Λ -algorithm.

Suppose $n = \operatorname{rank}_{A} u(x) < \infty$ and define $F(x; \lambda)$ by (12). Then we have the following.

Theorem 15. For any $\lambda \in C$,

$$\Lambda(u)F(x;\lambda) = \lambda F(x;\lambda) - \Omega(\lambda;u)$$

holds, where $\Omega(\lambda; u)$ is the Λ -characteristic polynomial.

Proof. Put

$$P(\lambda) = (\lambda - \Lambda(u))F(x; \lambda)$$

then one has

$$\frac{\partial}{\partial x}((\lambda - \Lambda(u))F(x;\lambda))$$

= $\lambda F_x(x;\lambda) - \left(\frac{1}{2}u'(x)F(x;\lambda) + u(x)F_x(x;\lambda) - \frac{1}{4}F_{xxx}(x;\lambda)\right)$
= $-K(u-\lambda)F(x;\lambda) = 0.$

This implies that $P(\lambda)$ is the polynomial with constant coefficients. On the other hand, since $(\lambda - A(u))F(x; \lambda)$ can be expressed as the linear combination of $Z_0(u), Z_1(u), \dots, Z_{n+1}(u)$, there exist the polynomials $p_j(\lambda), j=0, 1, \dots, n+1$ in λ with constant coefficients such that

$$P(\lambda) = \sum_{j=0}^{n+1} p_j(\lambda) Z_j(u).$$

Since

$$\sum_{j=0}^{n+1} p_j(\lambda) Z_j(u) = \sum_{j=0}^n (p_j(\lambda) + a_j(u) p_{n+1}(\lambda)) Z_j(u)$$

and $Z_0(u), \dots, Z_n(u)$ are linearly independent, we have

$$P(\lambda) = p_0(\lambda) + a_0(u)p_{n+1}(\lambda)$$

By Theorem 3, one verifies

$$\begin{aligned} &(\lambda - \Lambda(u))F(x;\lambda) \\ &= \sum_{j=0}^{n} (-1)^{n-j} \alpha_{j}^{(n)} Z_{j}(u) \lambda^{n-j+1} \\ &- \sum_{\nu=1}^{n} a_{\nu}(\lambda;u) \sum_{j=0}^{\nu-1} (-1)^{\nu-j-1} \alpha_{j}^{(\nu-1)} Z_{j}(u) \lambda^{\nu-j} \\ &- \sum_{j=0}^{n} (-1)^{n-j} \alpha_{j}^{(n)} Z_{j+1}(u) \lambda^{n-j} \\ &+ \sum_{\nu=1}^{n} a_{\nu}(\lambda;u) \sum_{j=0}^{\nu-1} (-1)^{\nu-j-1} \alpha_{j}^{(\nu-1)} Z_{j+1}(u) \lambda^{\nu-j-1}. \end{aligned}$$

Therefore we have

$$p_0(\lambda) = (-1)^n \alpha_0^{(n)} \lambda^{n+1} - \sum_{\nu=1}^n (-1)^{\nu-1} a_{\nu}(\lambda; u) \alpha_0^{(\nu-1)} \lambda^{\nu}$$

and

$$p_{n+1}(\lambda) = -\alpha_n^{(n)} = -1.$$

On the other hand, by lemma 7 and Proposition 4, we have

$$p_{0}(\lambda) = (-1)^{n} \alpha_{0}^{(n)} \lambda^{n+1}$$

$$- \sum_{\nu=1}^{n} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} (-\alpha_{\nu}^{(n+1)} \lambda^{n-\nu+1} + \sum_{j=\nu}^{n} \alpha_{\nu}^{(j)} a_{j}(u) \lambda^{j-\nu}) \lambda^{\nu}$$

$$= ((-1)^{n} \alpha_{0}^{(n)} + \sum_{\nu=1}^{n} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu}^{(n+1)}) \lambda^{n+1}$$

$$- \sum_{\nu=1}^{n} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \sum_{j=\nu}^{n} \alpha_{\nu}^{(j)} a_{j}(u) \lambda^{j}$$

$$= \left(\sum_{\nu=1}^{n+1} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu}^{(n+1)} \right) \lambda^{n+1} - \sum_{j=1}^{n} \left(\sum_{\nu=1}^{j} (-1)^{\nu-1} \alpha_{0}^{(\nu-1)} \alpha_{\nu}^{(j)} \right) a_{j}(u) \lambda^{j}$$

$$= \lambda^{n+1} - \sum_{j=1}^{n} a_{j}(u) \lambda_{j}$$

Hence we have

$$p_0(\lambda) + a_0(u)p_{n+1}(\lambda) = \lambda^{n+1} - \sum_{j=0}^n a_j(u)\lambda^j = \Omega(\lambda; u).$$

This completes the proof.

One easily verifies that

$$\left(\begin{array}{cccccc} 0 & 0 & \cdots & 0 & a_0(u) \\ 1 & 0 & \cdots & 0 & a_1(u) \\ 0 & 1 & \cdots & 0 & a_2(u) \\ \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & \cdots & 1 & a_n(u) \end{array}\right)$$

is the matrix of $\Lambda(u) \in \text{End}(V(u))$ relative to the basis $Z_0(u), \dots, Z_n(u)$ of V(u). Hence

$$\det(\lambda - \Lambda(u)) = \begin{vmatrix} \lambda & 0 & 0 & \cdots & 0 & -a_0(u) \\ -1 & \lambda & 0 & \cdots & 0 & -a_1(u) \\ 0 & -1 & \lambda & \cdots & 0 & -a_2(u) \\ \vdots & \vdots & \ddots & \ddots & \vdots & \vdots \\ 0 & 0 & \cdots & -1 & \lambda & -a_{n-1}(u) \\ 0 & 0 & \cdots & \cdots & -1 & \lambda - a_n(u) \end{vmatrix}$$
$$= \Omega(\lambda; u)$$

follows. Hence if we put

$$\Gamma_0(u) = \{\lambda | \Omega(\lambda; u) = 0\},\$$

then we have the following.

Corollary 16. $\Gamma_0(u)$ is the set of eigenvalues of $\Lambda(u) \in \text{End}(V(u))$. Moreover $F(x; \mu_j)$ are the eigenvectors of $\Lambda(u)$ corresponding to the eigenvalues $\mu_j \in \Gamma_0(u)$, $j=0,1,\dots,n$ respectively.

Hence, if $n = \operatorname{rank}_{\Lambda} u(x) < \infty$ and $\#\Gamma_0(u) = n+1$ then V(u) is spanned by $F(x; \mu_i), j = 0, 1, \dots, n;$

$$V(u) = \bigoplus_{j=0}^{n} CF(x; \mu_j).$$

By lemma 9, $F(x; \lambda)$ is the polynomial of degree *n* in λ for each *x*. Hence if $\#\Gamma_0(u) = n+1$ then, by Lagrange's interpolation formula, we have

(23)
$$F(x;\lambda) = \sum_{\substack{j=0}\\i\neq j}^{n} \prod_{\substack{j=0\\i\neq j}}^{n} \frac{\lambda - \mu_{i}}{\mu_{j} - \mu_{i}} F(x;\mu_{j}).$$

Operate with $\Lambda(u)$ on both sides of (23) then, by Theorem 16, one has immediately

$$-\Omega(\lambda; u) + \lambda F(x; \lambda) = \sum_{\substack{j=0\\i\neq j}}^{n} \mu_j \prod_{\substack{i=0\\i\neq j}}^{n} \frac{\lambda - \mu_i}{\mu_j - \mu_i} F(x; \mu_j).$$

Therefore, we have

$$-\prod_{j=0}^{n} (\lambda - \mu_{j}) + \sum_{j=0}^{n} \lambda \prod_{\substack{i=0 \ i \neq j}}^{n} \frac{\lambda - \mu_{i}}{\mu_{j} - \mu_{i}} F(x;\mu_{j}) = \sum_{j=0}^{n} \mu_{j} \prod_{\substack{i=0 \ i \neq j}}^{n} \frac{\lambda - \mu_{i}}{\mu_{j} - \mu_{i}} F(x;\mu_{j}).$$

Thus we proved the following.

Proposition 17. If $n = \operatorname{rank}_{A} u(x) < \infty$ and $\#\Gamma_0(u) = n+1$ then the formula

(24)
$$\sum_{j=0}^{n} \varepsilon_{j}^{(n)} F(x; \mu_{j}) = 1$$

holds, where $\Gamma_0(u) = \{\mu_0, \mu_1, \cdots, \mu_n\}$ and

(25)
$$\varepsilon_j^{(n)} = \prod_{\substack{i=0\\i\neq j}}^n \frac{1}{\mu_j - \mu_i}.$$

Furthermore, by operating with $\Lambda(u)^m$ both sides of (24), one has

$$\sum_{j=0}^{n} \mu_{j}^{m} \varepsilon_{j}^{(n)} F(x; \mu_{j}) = Z_{m}(u(x)), \qquad m \in \mathbb{Z}_{+}.$$

Next suppose that $F(x; \mu_j)$ has at least one zero $x = a_j$ of second order for each $j = 0, 1, \dots, n$, i.e.

$$F(a_i; \mu_i) = F_x(a_i; \mu_i) = 0, \quad j = 0, 1, \dots, n.$$

Then, by (13), $\Delta(\mu_j; u) = 0$ are valid for any $j = 0, 1, \dots, n$. Hence $\Gamma_0(u) \subset \Gamma(u)$ holds in this case. Therefore, by Theorem 11, we proved the following.

Theorem 18. Suppose that $n = \operatorname{rank}_{A}u(x) < \infty$ and $\#\Gamma_0(u) = n+1$. Moreover assume that $F(x; \mu_j), j = 0, 1, \dots, n$ have at least one zero of second order respectively. Then

$$\phi_j(x) = \sqrt{\varepsilon_j^{(n)} F(x; \mu_j)}, \qquad j = 0, 1, \cdots, n$$

are the corresponding eigenfunctions of eigenvalues μ_i of the eigenvalue problem (11)

and the following trace formulae are valid for all $m \in \mathbb{Z}_+$;

(26)
$$\sum_{j=0}^{n} \mu_{j}^{m} \phi_{j}(x)^{2} = Z_{m}(u(x)),$$

(27)
$$\sum_{j=0}^{n} \mu_{j}^{m} \phi_{j}'(x)^{2} = \frac{1}{2} (\partial^{2} - [u\partial, \partial^{-1}]) Z_{m}(u(x)),$$

where $\varepsilon_j^{(n)}$, $j = 0, 1, \dots, n$ are defined by (25). The right hand side of (27) is the differential polynomial in u(x). Particularly

(28)
$$\sum_{j=0}^{n} \phi'_{j}(x)^{2} = -\frac{1}{2}u(x)$$

holds.

Proof. It suffices to prove (27). Differentiate twice both sides of (26), then we have

$$2\sum_{j=0}^{n} \mu_{j}^{m} \phi_{j}'(x)^{2} + 2\sum_{j=0}^{n} \mu_{j}^{m} \phi_{j}(x) \phi_{j}''(x) = \partial^{2} Z_{m}(u(x)).$$

Eliminate $\phi_j''(x)$ by $\phi_j''(x) = (u(x) - \mu_j)\phi_j(x)$ from the above then one easily verifies (27) by direct calculation. Moreover, by [6, p. 168, Proposition 12.1.12], it turns out that the right hand side of (27) belongs to $\mathscr{A}_0(u)$. The formula (28) follows immediately from (27). This completes the proof.

It is well known that the trace formulae of McKean-Trubowitz type (26) and (27) have many applications. Particularly, they play fundamental roles in many geometric theories of Hill's operator. See [3], [8], [13] and [14].

References

- [1] H. Ariault, H.P. McKean and J. Moser: Rational and elliptic solutions of the Korteweg-de Vries equattion and related many body problem, Comm. Pure Appl. Math. 30 (1977), 95-148.
- S.I. Al'ber: On stationary problems for equations of Korteweg-de Vries type, Comm. Pure Appl. Math. 34 (1981), 259-272.
- [3] P. Deift, F. Lund and E. Trubowitz: Nonlinear wave equations and constrained harmonic motion, Comm. Math. Phys. 74 (1980), 141-188.
- [4] P. Deift and E. Trubowitz: An identity among squares of eigenfunctions, Comm. Pure Appl. Math. 34 (1981), 713-717.
- [5] P. Deift and E. Trubowitz: A continuum limit of matrix inverse probblems, SIAM#J. Math. Anal. 12 (1981), 799-818.
- [6] L.A. Dickey: Soliton equations and Hamiltonian systems, World Scientific, Singapore, 1991.

- [7] B.A. Dubrovin, V.B. Matveev and S.P. Novikov: Non-linear equations of Kortegeg-de Vries type, finite-zone linear operators, and abelian varieties, Russian Math. Surveys 31 (1976), 59-145.
- [8] H. Flaschka: Towards an algebro-geometric interpretation of the Neumann system, Tôhoku Math. J. 36 (1984), 407–426.
- [9] E.L. Ince: Further investigations into the periodic Lamé functions, Proc. Roy. Soc. Edinburgh 60 (1940), 83-99.
- [10] B.M. Levitan: Inverse Sturm-Liouville problems, VNU Science press, Utrecht, 1987.
- [11] W. Magnus and W. Winkler: Hill's equation, Interscience-Wiley, New York, 1966.
- [12] H.P. Mckean and P. van Moerveke: The spectrum of Hill's equation, Inventions Math. 30 (1975), 217–274.
- [13] H.P. Mckean and E. Trubowitz: Hill's operator and hyperelliptic function theory in the presence of infinitely many branch points, Comm. Pure Appl. Math. 29 (1976), 143-226.
- [14] J. Moser: Integrable Hamiltonian systems and spectral theory, Lezioni Fermiane, Pisa, 1981.
- [15] M. Ohmiya: On the Darboux transformation of the second order differential operator of Fuchsian type on the Riemann sphere, Osaka J. Math. 25 (1988), 607–632.
- [16] M. Ohmiya: KdV polynomials, Darboux transform and A-operator, The second colloquium on differential equations (D. Bainov and V. Covachev, eds), World Scientific, Singapore, 1992, 179–184.
- [17] M. Ohmiya: Spectrum of Darboux transformation of differential operator, to appear.
- [18] M. Ohmiya and Y.P. Mishev: Darboux transformation and A-operator, J. Math. Tokushima Univ. 27 (1993), 1-15.
- [19] J. Pöschel and E. Trubowitz: Inverse spectral theory, Academic, Orland, 1987.
- [20] S. Tanaka and E. Date: KdV equation, Kinokuniya, Tokyo, 1979 (in Japanese).
- [21] A.P. Veselov: On the Hamiltonian formalism of commutativity of two operators for the Novikov-Krichever equations, Funct. Anal. Appl. 13 (1979), 1-7 (in Russian).

Department of Mathematical Sciences Faculty of Integrated Arts and Sciences Tokushima University Minamijohsanjima-cho 1-1 Tokushima 770 Japan